EINEFIMRL T —RNRI VR VARS

BMO6FE10A6H:CNATI—T X HE

#asds  A-1
#FEISTM-A 3 - 0 @R rIvrv0BS

Hag=2 A-2
SHUTTLEACTIVE 1 - 2 Z=a1—k3Jb

#eas=s A-3
FA2S5TM-A 3 — O SHUTTLE ACTIVE

#SF #Ehn 21 -6 44 i At & 21 =15 &% BxEF ¥ X 21 =1 T T
221-110 221-18 0 221—-130
#BR BF 0-o0 IR ER*E ik x5 0—-0 =i %ERMn Bt B 0-0 fa o
aH = 21 =16 MR == gk EF n-2a FR ph ISF HEhn 21 =1 it =0
221-12 0 0 16 —21 2 221—-16 0
Bt BF 0-0 EE T AH 5 0-0 ER B5Eit #ER 8% 0-0 ik £&F
ik = 21 —4 ThEE BBF IR BAZE 15 =21 EEs HE &% &= 21 =6 fIER 8L
221-16 0 0 16 —21 2 222-200
Bk IFK 0-0 Eik Eie A Bl 0-0 NG X2 ik FK 0-0 A B
#a8&2 A4 #4%8 A-5 #a%3 A-6
R kzVrvoB: 2 — 1 Za—kF3b #FHEISTM-A 3 -0 Za—F3b WEANRSUFVOBE | — 2 SHUTTLE ACTIVE
TE HF n -2 =i HERN 1k hnz 21 =13 =3 WERHD TEE BF 21 — 14 AT &
2 21—-16 1 2 21 -7 221-3 0
MNE =% 21 — 14 MR EE =F 8 0-0 NG X2 IRR EHRE 0-0 TR T
L4 = 10 =21 FER ph i HIhH 22 — 20 FR ph L+ =i 12 =21 fIER 8L
012—-212 221-17 0 012-212
ik Eia 0—-0 EF 8BSt Bt BF 0-0 ER 85Eit B8 FF 0-0 A BE
BEE FF 21 =18 ik BEF Bk IFK 21 =13 £k BEF ME =% 19 =21 it 30
2 8-211 221-130 121-11 2
IRER ERE 21 — 13 e HE R B= 0-0 EEs HE £k E 1 — 21 T
Ha®s B-1 #a#s B-2 HE®S B3
TLOR8hET 2 - 1 nmeesviogza | REIZIMB 0 - 3 U&LLI0D JLUX5hET 3 - 0 #EYSTM-B
TtH Bk 23 =21 fngk BEF g B 14 — 21 BiE =BF TEE @K 21 =9 g B
221-9 0 0 n-212 221—-100
FH bIh 0 -0 AiE BR BiE FF 0—-o0 BE = EH bIhH 0-0 5B HPH
ik BT 21 -6 Tk £ MER mxE 102 FE MW ik BT 21 —4 ®BA Hhx
221-10 0 0 13—-212 221—-130
A tiE 0-0 I HE SEH HPH 0-0 rg2 & 2l tiE 0-o0 all B
[RH FFEr 10 =21 #wAR B #®}AR IEF 10 =21 Bith B [FH FFEr 21 -6 INER HEE
1 21 —16 2 0 9—-21 2 221-170
=K E2 19 — 21 all =& Wa £n 0-0 E KRB = ER 0-o0 BE FF
Ha&S B-4 #a&s B-5 Ra&S B-6
nmginrsvbvgaa 2 — 1 UELWhD JLRAaLET 2 - 1 U&LLWnd nmanksboma-A 3 — 0 FREBYSJM-B
g BEF 21 =16 FiE &B 1EH &K 21 =19 Bith B g B=EF 21 =5 ¥2E HL
2 16 — 21 1 21 —-13 Q0 2 21 —8
KiE BFR 21 — 12 rg2 & ¥H bIh 0—-0 E KRB Kig BX 0—0 INER HEE
B B 21 — 12 Bt = Bk BF 21 -9 FiE & Bk B 21 =12 BiE FF
2 21-18 0 1 16 —-21 2 221-9 0
all #=&E 0-0 wHh = #H tE 21 — 23 rg2 & all E&/ 0-0 SEH HH
T £ 15— 21 NE RE FRE FRER 21 -6 Big T8 Tk £ 21 —16 ®wA BF
0 14-212 221-15 0 221-16 0
T BHA 0-0 =il B =k EE 0-o0 =i B I HA 0-0 W& £
#Za&5 2A-1 HAES5 2A-2 #Aa&5 2A-3
WHIP 2 -1 LWhELF(—Z MEISIM-C 2 - 1 WEIZT WHIP 2 -1 ®@EI>TM-C
RUTIRIES 21 -8 R BEF B BF 21 =9 EiE EiF hEFE BE 19 =21 B B5F
221—-17 0 221-9 0 012-212
gEll AAF 0-0 SH HET & T 0-0 TE =RF il H<H 0-0 ik T
hEFE BE 16 — 21 K I= BE BT 19 =2 = BERx i s 21 -6 BE BT
0 10-21 2 0 9—-212 221—-4 0
L H<H 0-0 AR 8h3k AR E1 0-0 ER B gEll BAF 0-0 ok 71
s F&= 21 —10 L5 T =W Wi 16 =21 frek nF s F& 21 —18 =
221-9 0 ~ 221-7 1 221-180
B PEF 0-0 B BETF @ =mifc 21 — 18 ZH T&H B FEF 0-0 {0 =/




EI3NEFIMRL T —RNRI VR VAS

BMOFE10A6H:CNATI—T Xk HE

faES 2A-4
YNE i)

WHhELT1—2R 2 - 1
BRI 21 — 9

2 21 —6
XA 5hsE 0—-0
EA BETF 21 —18

2 21 —16
HH RET 0-0
A BET 21 — 23

0 20—-222
A BT 0—-0

ik BiF
TE ®RF

I BZlxE
ER @i
ERKR BF
SH &P

WHIP

ERITb IS
BB BRF
xR XBF
INEIHR TS
I5E &
Br PEF

#4E&S 2A-5

2-1 WEIST
21 =7 £k BT
21-1 0

0-0 TE ®FRF
21 —18 ER hie
16 —21 2

19 — 21 %ZH ELH
21 —15 )l BElx
21-9 0

0-0 ERR BF

HaE=S 2A-6

WhELFr—Z 2 = 1 #EYSTM-C

8K BEF 21 =15
115 —21 2
fak BT 14 — 21
ER BEF 21 =16
222-200
EH HETF 0-0
#wA I 21 —13
219 —211
AR 5h3k 21 — 18

BE &
B EF

BE BF
fEik WmF
= s
{EE Kt

Hags 2B-1

#4E&S 2B-2

#a&=s 2B-3

MY MUMS 2 - 1 smrrsvrooss2 nmanksvromee 3 — QW B X B C MY MUMS 2 - 1 nmsrrsurogas
e Rk 21 — 14 Bl BF BA EF 21 =14 g pEF i ) 21 —n P
221-12 0 21-12 Q 221-7 0
AR EE 0-0 il I AEF 0-0 BHF &R AR EBE 0-o0 T BBF
x5 g7 -2 %M R BiE 27 21 =7 ZA FF xH Ex7 -2 BE EF
01m0-212 21-1 0 0Omn-212
88 BEx 0-0 WA B HHE 8h% 0-0 2R I5iE HXE 0—-0 HHE Bh%x
IR EE 21 —14 full BhZE Fa 354 21 =7 il £PH INE B 21 —12 BiE 27
221-15 0 21—-15 Q0 221—-100
ZH BT 0 -0 FIER =F Bl BEF 0-0 AEa HRXE 24 BF 0-o0 Bl BEETF
#&4ES 2B-4 2z&a&s5 2B-5 #a&8 2B-6
mRNrsorvoBg2 2 — 1 W B [F B C MYMUMS 2-1 w3 iEBC BRIV 0BR2 ) — 3 ABBARIVAUGAR-B
Bl BF 21 =15 Bl MK X% ExF7 10721 k@ 9EF Bl BF 21 —18 T BT
221-120 26 — 28 2 117 -212
il = 0-0 AR BEF BE Hx 0-0 BA i) = 23 — 25 M AEF
SEM R 2117wl EE 2 21 -n BF AR %M T 6 — 2 BE EF
221-17 0 21—-7 0 0 9—-212
WE Bx 0-0 &k DEF AH BEX 0-0 AP HRXE WA Bmx 0-o0 HHE 5h3%E
fulll BhZE 21 =15 BF A INE EE 21 =3 ZH FF full BhZE 16 — 21 e B
117 -21 2 221—-7 0 019 —-212
FIER =F 12 — 21 ZH FF ZH BT 0-0 MA BETF FIER =T 0-o0 =ts #F
#&a&3 3A-1 2a&8 3A-2 #&a&EsS 3A-3
BERE 1-2 WEE wpgE  2-1 FRHEE =R 2-1 FKHRE
R BT 3-a R 85I HE &I 21 =9 Bk BET RE BF 21 =13 = EfRE
16 — 21 2 221-9 0 2 13 —211
FEF R 0-0 BE BEETF BE BEBTF 0—-0 AR k= WE =¥ 21 — 15 XE MEF
WE =7 23 -2 =ik =RTF =ik =RTF 19 -2 =@ EfRE ERAR B 15 — 21 ag LF
2 21—-13 0 019-212 121-18 2
=5H AEF 0-0 R EF ik R 0—-0 KR HNETF TE MK 15 — 21 hnEE FF
ERAR B 19 =21 =te =7 =t =7 21 -8 a7 LF BH &RF 19 — 21 e BET
9-21 2 221-140 221-101

BEH &R7F 0-0 SR &&F Bk &&F 0-0 ik KT =5H AEF 21 — 9 3.7 NI E
#a&5 3B-1 #4885 3B-2 #a4&5 3B-3

AR 2-1 EER w#ER 2-1 &eF5 BAE 2-1 =F5

EiE EiF 21 =10 HE HVOF i fLF 18 — 21 Pk 2F Lk WF 21 -10 BHik& EF
21-9 0 0 s8—212 221-6 0

&k =thT 0—-0 WS =KF i Rk 0—-0 a/kE TRZ —F N&F 0—-0 &k BF

Wi F5F 21 =13 BHE #pE HE HVOF 21 =15 B BEF WH £5F 19 — 21 FikE 2F
26 — 28 221-12 0 017 -212

IWF mF 13 — 21 BIE FF HE =K+ 0-0 &iE BT ¥ mF 0-0 B TRA

ik T 21 =16 Eid fLF BH #PE 21 =19 IR EF HilE &+ 21 -8 IV #B\F
2 20 —22 1 15 —21 1 221-16 0

—F N&EF 21 — 13 i Rk AIE RF 21 — 13 BE =T &k EEF 0-0 BE =T




EINEFIMRL T —RNRI VR VARS

BMO6FE10A6H:CNATI—T X HE

#a&2 x-1 #a&2 x-2 #a%5 x-3
HAISTM-A 2 - 1 TLUXahRI Za—hF3Ib 1 - 2 nmmiksvbvgsA WHIP 1 -2 MY MUMS
aH = 12 =21 1EH Bk e 858 21 —8 Tk 8% FREFE B 10 =21 &k R
0 14-212 221-14 0 0O 8—-212
Bt BF 0-0 FH HIh NG X 0—-0 Tk HA il H<H 0-0 AR BE*x
ik = 22 — 20 Bk BF TR ph 21 =18 Bk B i msE 21 =3 X8 =xF
221-11 0 116 —-21 2 221-5 0
Bk IFK 0-0 #H tiE ER H5Eit 6 — 21 alll =& Bl BRF 0-0 5E Hx
®F @i 21 =19 IR FRER ek BEF 2 T mEE BEF g & 17 = 21 IR EE
221-14 0 113-212 0 1-212
BR B 0-0 =K ER =3# FEmM 16 — 21 Kig BR Bx FEF 0-0 2H BF
#2082 x4 #4%8 x-5 #a%&S x-6

VWHELF4—Z 2 — 0 nmsirsvrgs-s i} 2 -1 SHE SRR 1-2 =EE
IER BEF 21 =19 =te BF #HE 8/I 21 =16 = i RE BT 21 =1 BH #PE
221-11 0 221-8 0 221-8 0
EH NEF 0-0 bk AEF AE HEF 0-0 &k EEF WEx FF 0-0 A RF
#A I 21 =17 =HE fiEF EigE ERTF 20 — 22 Eik WF ER &RF 14 — 21 & fLF
221-15 0 0O 8—-212 018 —-212
AR 8h3E 0 -0 HHE 5h3%E =te E=F 0—-o0 —F N&F =yH AEF 0-0 ith =E
B 3T 0-0 Ba W& BiR B8&F _ 21 WE F5F ek g 122 BE HOF
0 o—-0 O 221—-19 0 121—-15 2
E1 Nl 0—-0 il BEF ik R 0-0 ¥ mhF EE 9 — 21 HE =&F




